
j*f g+= 7                             s'n ah]^ ? 7374374  
s_ k"jf{wf/ lasf; tkm{ ? 5357061.8                            gd'gf of]hgf 1000000.– 
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 10ld^/ rf}*fO kSsL gfnL / u|fe]n gd'gf of]hgf_ u(jf 7 ;]d/L ef}r/ / ;sn/fd #/,%f]^]nfn b]lv dfgk'/ s'nf] ;Dd 1000000   
  hDdf   1000000   
;*s tkm{ 3257061.9   
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 10ld^/ rf}= af^f] u|fe]n /  2j^f sNe{^ lgdf{)f sfnL/fd rf}w/L dfgk'/ b]lv bfg axfb'/sf] #/ x'b} df]ltk'/ r}g' #/;Dd / ;'wL/fd / bfg axfb'/sf #/ g]/ sNe^{ 425000 

  

2 10ld^/ rf}= af^f] u|fe]n  sfnL/fd rf}w/L dfgk'/ b]lv k"j{ zflGtk"/ b]lv :s'n rDaf]nf  / dsgxjf em/a}/f   400000   
3 10ld^/ rf}= af^f] u|fe]n  vf};of ;f]tf b]lv s'dfnL sNe^{ ;Dd #f]/fxf afnfk'/ rf]s / afa' zdf{sf] #/g]/ 582061.86   
4 10ld^/ rf}= af^f] u|fe]n k'n dsgxjf ltg} ^f]ndf rDafnf em/a}/f 850000   
      2257061.86   
l;rfO{ tkm{ ? 1400000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 l*kaf]l/Ë rGbgk'/ 1300000   
  hDdf   1300000   
ljw't tkm{ ?     
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 36 yfg kf]n tyf ;fdfu|L vl/b df]tLk'/ ;]d/L 500000   
  hDdf   500000   
 cWoIf k'FhLut ;'wf/ sfo{qmd   300000  
k|j${gfTds tkm{sf] ? 2167312.5sf] 60k|ltzt      k"j{fwf/ tkm{sf] of]hgf -km'^s/ of]hgf_ 1300387.32 
ljw't tkm{ ? 133387.32.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 3 yfg kf]n / ;fdfu|L Ozj/ rf]w/Lsf] #/ k%f*L 

133387.32 
  

2 2 yfg kf]n / ;fdfu|L ltnsf rf}w/Lsf] #/g]/ klZrd   
3 5 yfg kf]n / ;fdfu|L dfgk'/ blIf)f g]kfnL ^f]n   
4 2 yfg kf]n / ;fdfu|L x]dgf/fo)f #/ klZrd #f]/fxf   
;fdflhs lasf; tkm{ M–    ejg tkm{ ? 967000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 cw'/f] dlxnf ejg lgdf{)f rGbgk/ 200000   
2 cw'/f] dlxnf ejg lgdf{)f df]tLk'/ 150000   
3 cw'/f] dlxnf ejg lgdf{)f ;]d/L 150000   
4 cw'/f] dlxnf ejg lgdf{)f sfG%LufpF 150000   
5 gofF dlxnf ejg lgdf{)f dfgk'/  167000   
6 cw'/f] dlxnf lasf; ejg lgdf{)f #f]/fxf 150000   
  hDdf   967000   
l;rfO{ tkm{ ? 100000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 af]l/Ë / l;rfO{ df]^/ dfgk'/ d?jf g]/ 100000   
  hDdf   100000   
:jf:Yo tkm{ ? 100000.–    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 lh/f] xf]d *]lne/L :jf:Yo rf}sL u(jf 100000   
  hDdf   100000   
nlIft tkm{ ?= 716924.88    
qm=;+= of]hgfsf] gfd :yfg /sd s}lkmot 
1 afnaflnsf tkm{ 15 k|ltzt j*f g+= 7 175096   
2 dlxnf tkm{ 5 k|ltzt j*f g+= 7 108365   
3 cflbaf;L hghftL tkm{ 5 k|ltzt j*f g+= 7 108365   
4 dw]zL, d'lZnd tyf lk%*f ju{ tkm{ 5k|ltzt j*f g+= 7 108365   
5 h]i& gful/s tkm{{ 1 k|ltzt j*f g+= 7 21673   



6 o"jf tyf v]ns'b tkm[ 5 k|ltzt j*f g+= 7 108365   
7 bflnt tkm{ 2 k|ltzt j*f g+= 7 43346   
8 ckfË 2 k|ltzt j*f g+= 7 43346   
  hDdf      


